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Ch 7 Test Review Class
)Solve each proportion.
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The polygons in each pair are similar. Find the missing side length.
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* Find the missing length. The triangles in this pair are similar. M
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Solve for x. The triangles in each pair are similar.
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State if the triangles in this pair are similar. If so, state how you know they are similar and complete the

similarity statement. 2
ST 3 | E,,
R - ";/- O { S
s N\, Ltk 9 3
/ e 5 ¢
‘A 45 X 59
u T
. SY & _ 2
— 't-""';_" e
Mmg Z3 515
J K .
L L £



. Find the missing length indicated.
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Solve for x.
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- Mpr.é practice solve proportions.
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